Math 2201   

       Quadratic Equations

Name:____________
Sec 7.2:  Solving a Quadratic Equation by Factoring

1.    Factor each quadratic equation to find the zeros.
a).  4x2 – 9 = 0 



b).    3x2 + 12x = 0

x=3/2

x=-3/2




x=0
x=-4
c).   x2 – 10x + 25 = 0



d).   x2 – 4x -12 = 0 

x=5

x=5




x=6
x=-2

e).   x2 + 50x =  – 49   



f).   2x2 – 12x + 10 = 0 

x=-49

x=-1




x=5
x=1
g).   8x2 + 14x + 3 = 0 


h).   3x2 – 4x – 15 = 0 

x= - ¼

x=- 3/2 



x= - 5/3
x = 3
Sec 7.3:  Solving Quadratic Equations Using the Quadratic Formula  
2.  Determine the EXACT ROOTS of each quadratic equation.  
a).   8x2 + 15x + 6  =  0



b).  10x2 – 13x = – 4 


x = 
[image: image1.wmf]16

33

15

±

-





x = 4/5 
x = ½ 
c).  3x(x – 2) = 2(5 – x2) 



d).   5x2 + 6x + 7 = 0  
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no real roots
3.
Find the approximate roots of each quadratic equation. Round your answer to 1 decimal place.


a) 7x+1+2x2=0



b)
-2x2 + 3x = -8


x = - 3.4
x= -0.2



x = -1.4
x= 2.9
4.
For each function below determine if there are 0,1, or 2 x-intercepts. Explain how you know!


a) f(x)= x2 -5x+4

b) f(x)=9x2 + 12x+4

c)  f(x)=2x2 -8x+9


2 x – intercepts

1 x-intercept


no x - intercepts
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